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To simplify a class intertace,
use of inheritance is deprecated.
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A bad example in perl 5 =



GD

GD::Image

+ colorAllocate
+ line

+ rectangle

+ ellipse

+ getPixel

+ setPixel

+ more...

GD::Simple

+ bgcolor
+ facolor
+ moveTo
+ lineTo

+ rectangle
+ ellipse

+ more...

+ AUTOLOAD

+ bootstrap

+ carp

+ constant

+ croak

+ gdGiantFont

+ gdLargeFont

+ gdMediumBol dFont
+ gdSmallFont

+ gdTinyFont




# This works:
use GD::Simple;

my $img = new GD::Simple(40, 50);
$img->bgcolor(‘white');
$img->fgcolor('red’);
$img->rectangle(10, 10, 50, 50);



# But this doesn't work, since
# setPixel is a method derived
# directly from GD::Image
use GD::Simple;

my $img = new GD::Simple(40, 50);
$img->bgcolor(‘white');
$img->fgcolor(‘'red');
$img->setPixel(10, 10, 'red’);



# We have to degrade to the harder way:
use GD::Simple;

my $img = new GD::Simple(40, 50);
my $red = $img->colorAllocate(255, 0, 0);
$img->setPixel(10, 10, $red);



# The Perl 5 way:
print "hello, world!\n";



# The Perl 5 way:
print "hello, world!\n";

5 characters



# The Perl 6 way:
say "hello, world!";



# The Perl 6 way:
say "hello, world!";

3 characters



© That's the Huffman coding principle
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v/ Rant on the software vendors and show them
where the technology really wants to go!
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Broad background knowledge is very important
to good programmers.
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<agentzh> yeah

<agentzh> audreyt++ # you seem to know everything.

<audreyt> nah, not really :)

<agentzh> hehe

<audreyt> that's what you get from spending far too
much time on wikipedia...

<agentzh> ah, wikipedia++

<EJRE> =

<EJE> BER++ # RLFRERANES

<ER> A1ZER:)

<EJjrE&E> M

<ER> XEft wikipedia fuh FHHFE T RZESEMER. ...
<ZjrE> |, wikipedia++



© Understanding the culture
behind the technology is very important.
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The culture of Windows feels like...

M

Windows B FRRT%. .....






While the culture of UNIX feels like...

M

i UNIX B3R . ...






Java gives me the feeling like...

M

Java SRR INEE. . ...






Perl gives me the feeling like...

M

Perl LB IEE. ... .-






The top 3 jJumps in my programming
learning curve =
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s OOP (Object-Oriented Programming)
2001.2 C+H++, Java, C#, encapsulation




s OOP (Object-Oriented Programming)
2001.2 C++, Java, C#, encapsulation

¢ Dynamic Programming
2002.9 Perl, Awk, regexes, the UNIX culture




¢ OOP (Object-Oriented Programming)
2001.2 C++, Java, C#, encapsulation

¢ Dynamic Programming
2002.9 Perl, Awk, regexes, the UNIX culture

s« TDD (Test-Driven Development)
2004.4 C# NUnit, Perl's Test::More, Pugs




The potential 4th jump at present:



The potential 4th jump at present:

s« Functional Programming
2006.? Haskell, CPS, Perl 6




© A small perlish TDD example
in C/C++ =
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/* adder.h */

#ifndef ADDER H
#define ADDER H
int add(int a, int b);

#endif



/* adder.cpp */
#include "adder.h"

int add(int a, int b) {

/| doesn't do anything useful right now:
return 0O;



/* test_adder.cpp #/
#include "adder.h"
#include "cpptest.h"

int main() {

plan(3);

is (add(1, 2), 3, "1 + 2 == 3");
is (add(-2,1), -1, "-2 + 1 == -1");
is (add(3,-3), 0, "3 + (-3) == 0");
summary();

return 0;



test adder.cpp

cpptest.h

adder.h

adder.cpp

test adder.oby

adder. obj

N

link /nologo ...

test adder.exe




c\ ¥C 2003 mSBERH

D:\projects>test_adder

1..3

not ok 1 — 1 + 2 ==

# Failed test (test_adder.cpp at line 6>
i ‘e’

i

i *3’

not ok 2 - -2 +1 == -1

# Failed test (test_adder.cpp at line 7>
i ‘e’

# ne

i r-1’

ok 3 — 3 + (-3 ==

#f Looks like you failed 2 tests of 3.

D:\projects>




D:\projects>test_adder

1..3

notok1-1+2==

#  Failed test (test_adder.cpp at line 6)
# '0

# ne

# '3

notok2--2+1==-

#  Failed test (test adder.cpp at line 7)
# '0

# ne

# -1

ok3-3+ (-3) ==

# Looks like you failed 2 tests of 3.



© The first 2 tests failed as expected ~~~
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© Now it's time to actually implement
the add function.

MEZREIFAY add eRZRHSSINAKRTHET .



[* adder.cpp */
#include "adder.h"

int add(int a, int b) {
// now we add the functionality:
return a + b;



© Now let's rebuild the project
and rerun the tests...
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c\ ¥C 2003 mSBERH

D:\projects>test_adder

D:\projects>




D:\projects>test adder
1..3

okl1l-1+2 ==
ok2--2+1==-

ok 3-3+ (-3) ==



Write test...
...watch test fail.
Write code...
...watch test pass.
Refactor...
...watch test pass.
Write test...
...watch test fail.
Write code...
...watch test pass.
Refactor...
...watch test pass.
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Get my slides!

http://agentzh.org/misc/slides/naming recap.pdf



Contact me on the web!

M,

agentzh@gmail.com



These slides are powered by
Sporx and @Takahashi++



Thank you!
©






